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HEAE 22 F(kg) | 756 744 660

48Hd 1 756+ 7 = 108(kg), 55 © 744 + 6 = 124(kg), 654
1 660 + 5 = 132(kg)

St = o HbA B2 Ht HF A9 F2 63d0] 132kg o2
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5. (9+0+©):3=69,@=32 Y1 479 4@, ©.©. e
B Toteler.

> E:

> =g 59.75

AD+O+©®=69x3=207
(O+O+O+®)+4=(207+32) +4=59.75
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53712 F 91 FHO|BEE A=

91 x 5 = 455(4) °]tt.

1,2, 3,539 49| A E FotH

84 + 92 + 88 + 95 = 359(H),

wabA 43] o] 4 455 - 359 = 96(F) Ytk
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= Loy 29 stEE9] 71 UErd
7= d4ole] 719 2ot & off, off & FF
FaAe.
oI5 | 7I(cm) | ©I& | 7I(cm)
ot 1327 | &3
<=1 142.2 A4 145.8
S| 1355 | 24E
A Ht
834 139
= cm

[ 2
> HEH 138.9cm

B

(FA)=(B+) x (3 ),
139 x 6 834( cm),
(2@olst @ole] 7)< &

= 834 — (132.7 4 142.2 + 145.8 + 135.5) = 277.8( cm),

odolet @xlole) sl gomg
277.8 +2 = 138.9(cm)
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